Name

7" Grade Accelerated Summer Math Packet

Directions: Read the directions carefully.

e This packet will be collected the first day of school.
e You must show work that supports your answer. No work, no credit.

e All answers should be written in simplest form and as mixed numbers if necessary.
e Use 3.14 for pi.

e Round to the nearest hundredth if necessary.
e Sections in the packet indicate if a calculator should be used or not.
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Indicate if each number is rational or irrational. (No calculator)

1, 2
3

y P

2

3. V2
4, w

5. 21.8576982136514756....

Using long division, write each rational number as a decimal. Then, indicate if the number is terminating or
repeating. (No calculator)

2
6 3

Order the set of numbers from least to greatest. (No calculator)

8. -2.5,

9, 15, 52,—1,~2 =3, 6=
3 5

10. Perform each indicated operation. (No calculator)



—342= -2(5) = 96 x 0 =
5 1 _
6 12 —3-(-5) = Z. 15 =
—60 + —5= -162-5= —25—-15=
125 + —5= 1+2_ 2 1 _
515 13 26
1;4_ -102 +102 = g(g)_
8 3\5
—{7_5= —3x—12= 4 1_
5 2
23><52— 1 10 1 _
47737 5 _ 13 13
Z_
3
1 1 —3——-18= 0+15=
276"
67 —57— 65+ —5 = 14 18 _
15 19
3—-(-5)= > 1 3+0=
6736
—-9——-8= —1(15) = 12— —6=
-5 x9= 5 2 T
3 9 gr10=




Find each unit rate. (No calculator)

11. Katie walks 2% miles in 5 i hours.

12. Laura reads 1lz page in % minute,

13. A bathtub fills at a constant rate. The amount of water in the tub increases by % gallon every % minute.

Tell whether each relationship is proportional. If so, give the constant of proportionality. (No calculator)

14,
Number of 1|2 3 8
hours
Total pagesread | 12 | 24 |36 | 96
Number of Lawns 1 2 3 4
15, Amount Earned (8) | 15 30 | 48 64
16. Proportional or non-proportional? How do | T T1° | 7]
you know? EERENE val
| ?_ 1 ..........
| [ |
5 4 -8 2 4/ | 2 5
=1 _,?"""
= { IR i T
— =81
£ S R S FE S 8
17. Proportional or non-proportional? How do y
you know? /]
f:‘h
= x
N
N

Determine if the following equations represent a proportional relationship. Then, EXPLAIN YOUR REASONING!




18. y=x

19. y=2x-5

Convert each percent into a decimal. (No Calculator)

20. 12%
21. 5.2%
22. 103%
23. 6%

24. Andy goes out to a restaurant for lunch. His total bill was $17. He would like to leave a 20% tip. What is the total
cost of his meal?

25. Liz goes shopping and finds a dress that she would like to buy. The dress is $52. When she goes to the register,
the cashier tells her that there is a special sale and her dress is 15% off. How much will Liz pay for the dress?

Find the selling price of each item.

26. Cost of lava lamp: $35.99
Discount: 25%

27. Cost of watch.: $87.97
Markup: 11%

28. Cost of a milkshake: $3.89
Tax: 3%

Perform the indicated operation. (No Calculator)



29. (—6x — 8) + (2x + 6)

30. (7v—=9)—(6v+9)

31. (=x=5)—(-2x + 2)

3

N

L (-8r—2)+(4r-13)

Factor. (No Calculator)
33.3a+ 15

34, 10y -5
35. 15z + 30
36. 2x— 8

37. 12x + 24

38. 5x — 25

Use the distributive property to simplify. (No calculator)
39. 3(x—3)

40, —2(5 + 2x)

41, 4(6x + 8)
1
42, 5 (4x — 8)

43, §(3x +15)

Solve each equation. (No calculator)



44,

x—20=60

45. 7.5x = 45
26.2=12
3
47. x + 30 = —15
48. 5(2x +2) =50
49. 2+ 4 =14
50. x — 33 = =25
51, —4x + 12 =128
52. 16x+ 6 = —4x + 56



Solve and graph each inequality on the number line. (No calculator)

53. Recall: Both < and > sign use a(n)
a(n)

circle and both < and = use
circle when graphing on the number line.

54. When multiplying or dividing both sides of an inequality by a negative number you must
sign.

55. 5x —3 = -23
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56. 20 < —2x + 10
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Solve each scale drawings problem.

59. The distance between Ali’s house and the mall on a map is 6.4 inches. If the scale of the map is 1 inch: 4.5 miles,
what is the actual distance in miles? Hint: Set up and solve a proportion.

60. The actual distance between two cities is 650 miles. The scale on a map that represents these two cities is 1
inch: 40 miles. How far apart are the two cities on the map? Hint: Set up and solve a proportion.

61. Mary made a scale drawing of the distance between Salt Lake City and Arizona. The distance between Salt Lake
City and Arizona on the scale drawing is 21 cm. If the scale is 6 cm: 250 kilometers, what is the actual distance
between Salt Lake City and Arizona? Hint: Set up and solve a proportion.

62. On a scale drawing, the area of an amusement park measures 20 square inches. If the drawing uses a scale of 1
inch: 12 feet, what is the actual area of the amusement park? Hint: Set up and solve a proportion.

63. Find the complement AND supplement of each angle. (No Calculator)

a. 12°
b. 29°
c. 86°



Use the figure at the left to answer the following questions.

64. What angle is adjacent to < RLK?

65. What angle is supplementary to < WLS??

66. The measure of < RLK is 41°. What is the measure of < SLY?

Find the volume and surface area of each figure.

67. 12 em

28 em

m == =D

68. &

P,




69.

L

70. The surface area of a rectangular prism is 2,660 square inches. If the length is 44 inches and the width is 2
inches, find its volume.

71. Find the diameter of a cylinder if the height is 12 inches and the volume is 780 cubic inches.

72. Determine if each sample is random or based.
a. Eric wants to know the favorite movie of students at his school. He surveys the first fifty students who enter
the cafeteria at lunch time.

b. Cindy wants to know the favorite type of food for students at her school. She surveys the first eighty people
who enter the school doors in the morning.

c. Joe wants to know what all students at his school think about their reading class. He surveys forty 6 grade
students at lunch.

73. John randomly selects 60 boxes of crayons from the shelf and finds 6 boxes with at least one broken crayon. If
the shelf holds 180 boxes, how many would you expect to have at least one broken crayon?

74. A random sample of cats at different animal shelters in a city shows that 10 of the 60 cats are kittens. The city’s
animal shelters collectively house 1,250 cats each year. About how many cats in all of the city’s animal shelters
are kittens?



75. Use the information in the table to answer the following questions.

Heights of 8" grade boys (inches)

67, 63, 66, 65, 64, 67, 67,

a. Find the mean of the data set.

a. Find the median of the data set.

b. Find the mode of the data set.

¢. Find the range of the data set.

d. Find the MAD of the data set.

e. Make a dot plot of the data.




76. Determine whether each event is impossible, unlikely, as likely as not, likely, or certain. Then, decide if the
probability is 0, close to 0, %, closeto 1, or 1.

a. Aspinner has 8 equal sections marked 1 through 6. You spinandlandona 4,5, 6 or 7.

b. Rolling a number cube that has sides labeled 2, 4, 6, 8, 9 and getting an odd number.

77. A standard number cube (dice) is used. Find the probability of.... (No calculator)

a. Notrollinga3oraé6

b. Rolling a number divisible by 4
78. A bag contains 4 red marbles, 3 green marbles, 5 purple marbles, and 1 yellow marbles, and 5 pink marbles.
What is the probability of... (No calculator)

a. Choosing a red marble?

b. Choosing a purple marble?
c. Choosing a green or yellow marble?

79. Use the spinner to the right for the following questions.

a. In 800 spins, about how often can you expect to land on a number evenly divisible by 5?

b. In 1,330 spins, about how often can you expect to land on a number less than 4?

¢. In 51,200 spins, about how often can you expect to land on a 4 or 8?



80. A doctor’s office records data and concludes that on average, 12% of patients call to reschedule their
appointments per week. The office manager predicts that 39 appointments will be rescheduled out of the 240
total appointments during next week. Is the prediction reasonable? Show your work and explain you answer.

81. A catalog store has 7% of its order returned for refund. The owner predicts that a new picture frame will have
802 returns out of the 19,824 sold. Is this prediction reasonable? Show your work and explain your answer.

82. The experimental probability that it will rain on a given day in Houston is about 13 %. Out of 365 days, about
how many days can residents predict rain?

83.,The 5-point summary of the height distribution, in feet, of some trees,
is given below.

Q, =161t Q,=23ft, Q, = 27 ft, lower extreme value = 9 ft,
upper extreme value = 32 ft

a) Draw a box plot for the given 5-point summary.

b) What is the range of tree heights?

¢) Find and interpret the interquartile range.



@M, Solve each equation fory. (No calculator)

a 2y=3x-5 d. -2X-3y+16=0

b. 4y—5=12x

e, 10X= -By+2

¢ 3y+2x=15

85, What is the area and circomference of o circle & Hhe.
radius s Sem 7T

8L, The distance around o Bt'c/yd,e wheel s 113, 0Y in
What (s the oliameter? '

27 The area of &« CD s 1A04Y em® What & its radivs?

(9
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Example(Using a 3" parallel Line - Auxilury Line)

- 4 ——

8q' Practice:
Find the value of the variable(s) in each figure. Explain
your reasoning.

C\@ Practice:

Find the value of the variable(s) in each figure. Explain your
reasoning.
(4z + 6)

AN
VoV

al.

{\'t%fccue, s Y years older than her Friend Tricia, Jackie

LS 5/1/_66(1‘5 yorunﬁpjp than, her %LM Tricie. The sum oF thelr
ages & [47. How old are each of the 3 Prignds 7

e



92, Construckt an Q0° w\ﬁ(;e, and diraw the angle bisector:

93,

N,

Construct ﬁﬁw\@lxe ARC with AB: Som, AC=H,5 am, and <ABC= (O°

Coy\,gthuci }oamuetogmm AEDQD W(,"H’\, AB: 7OI'YL, DA: H.SC/WL,

ond “kBC= S0° Then construct the perpendicular hisector
ot CD and, label 4he tnberseckion, point X,



95 Construct  quadrilateral. -WXYZ such that WXz 4,2 Cin,
XY=6 om, YZ=52 om, WZ=5 om, and. WY= § cm,

96.. Find the number of vafandLe,S that can be congtrycted,
cuch that DE= 7em, EF=§om, and “EDF=50°



97, The nomber of students, n, (s Iwerstly proportional to the time,

T days, required, +o complete a project, Tt takes |2 studedts
20 deys to complete a ;oroj@d? :

o, Find the constat of P\r\o)ﬂm‘ﬁ—ma,(&%y,
b, WY‘&Q an  (werse PNPOY“{,’L‘UYL Q%UQ)!T(:UYL,

C. Find the nomber of days 4 would +a c
H\Lﬂ Same project, eps & unld ke for 15 students o complete

d. Describe *he relationship between the mimber o€ studerts and, Hhe
Hime. required. to Owb@(se * )oY\oJQ/d',

€. The cost of o plee of ribbon, 1 is olirectly

l,e/ﬁlfk oF the T’L\?\?OW, X, The cost f |7 meters
. Find the cost per meter of the wbbon,

P\m&oorflbml to the,
of nibbon is #/].90,

b. Write o direct proportion eguation relatihg r oo X,
C. Find. the cost of 12 meters of pibbon,

d, Desurtbe the relationship between the length of the nibbon
ond, the cost,



Write an %uwﬁom Lor eoch )orobtwm. Solve  andd ghow your woyK |

M. Terry spent o 4otal of $[,73 on Il apples and @ pint. of
e cream, 16 o Fiv\f of (o cream costs ¢3,15) how much
i each apple cost?

100, The students collected ¥2,Y3Y i 4hree months. The oot

0% maney collected, i each of the Pirst Ywo matths was four Fmes
e, wudc oo%ecnbeol 1 ‘H\ﬁ ‘“\A}OL W\m\ﬁ\ H‘dw m,uch, was C,OU,E(%&OL
inthe, thivdl mordh?

10, The. sum, oF +wo -Pa,ci}ﬂ page wmbers n a book is 2|5,
What are -the two page ywmbers?

02, Grace. savedk #34 mare, than Claive, T ey soved, $/72
a,th‘dsekhe)p' how rmuch did -Hwy each, Save?

08 dawes is Five times as old, as Valine, The Jidforence. between
Heir oges is Sb Find both of their %9es.




Write an Ehegjual,({ry for each PVUH/E’M, Solve. and, Show your worK.

104, Sophul has  scoveol 18,24 and 32 )MMS in her (ast > baskebball
gomes How many }oawts hwst‘ She scove i the next Jome so Yot
her four-game RN AGR IS at (east 2Y )ooﬂxi'sjf

105, A schodl (s Semwy D feachtrs and, some. studergs on a Teld
frip. The admission price for teachers i #1/.50 and, students

ore. *q each, T the budget for the Field 4rip s $75
oOt most how ey students capn 80

106., T‘ve, Yees for 2 Hh:(fc Wanues ot Shaum below.
%W WQ% ot 17 ps 2% cente pPer word],
Comfoawy Mot fee of +3 plus 2§ cents per worvl,
T o prick codahs X number of word's, For what vales of
X C&NCWWM/ A's rates c%@afer Hhan Cmn)wmy BT



